DO ARIEHIS| A Bt
D MHRES(AYEHIEHL) (SSEML N /A )

D UHEAHHKIE cHe A
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
ARSI A 0t 366,375,543 346,774,401 19,601,
WREsS(ALHHIEH L) (SSEMLAE/AL) 366,375,543 346,774,401 19,601,
LIS XI= 366,375,543 346,774,401 19,601,
AYEL N 29 366,375,543 346,774,401 19,601,
701 JIEHRI HISEES 366,375,543 346,774,401 19,601,
01 JIEteI B ES 366,375,543 346,774,401 19,601,
Ox~YSEIHNTES 366,375,543
OSHI(AYE2 XAXRAEA) 40,300,000
Ot 326,075,543
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SN ARSI D
A AL SHEUE I8 PR(SSEMLAA/AY)

CHelr ARAEH| SUSHAZSESIH) (SH9 &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ABHEH| 3] A 2t 271,191,307 233,344,617 37,846,690

ES 8,512,451
== 262,678,856
A HEUE JIE AR(SSEMALAT/AY) 29,029,967 19,137,939 9,892,028
e 8,512,451
= 20,517,516
AUHALEH] EUHSHALEESIA) 15,361,987 8,196,605 7,165,382
EN 8,512,451
=S 6,849,536
SAAEAM 01 &lF 2,030,039 0 2,030,039
ES 330,039
== 1,700,000
401 AlZHIZ S 0HbI 2,030,039 0 2,030,039
ES 330,039
[ 1,700,000
01 A28l 2,030,039 0 2,030,039
OSHAYA 018 A5 2,030,039
e 330,039
= 1,700,000
ZE9tMMIE OIE A= 1,425,000 150,000 1,275,000
401 Al HIZL S 0HYI 1,425,000 150,000 1,275,000
01 Al&H| 1,398,500 150,000 1,248,500
OZEUMHIE 0l& &= 1,398,500
02 Zeltl 24,500 0 24,500
OB 119U THE OlH M= 24,500
03 AlZ =2 THHI 2,000 0 2,000
OB E19UTHME OlH &= 2,000
HeH 19t M ME S5 650,000 650,000
401 AIEHIZ R OHYI 650,000 650,000
01 Al&HI 632,450 632,450
OUSHIRtNHIE SF 632,450
02 Zeltl 15,000 0 15,000
OUSHItEHE SF 15,000
03 A2 THYI 2,550 0 2,550
OUSHINEHE S5 2,550
SHAHIOKIEN Ol A= 800,000 80,000 720,000
e 400,000
= 400,000
401 AIEHIZ SR 0HYI 800,000 80,000 720,000
E 400,000
= 400,000
01 Al&H| 780,000 80,000 700,000
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SA LIS A
B AS HEGS Il PE(DDIEMUE/LY)
Selr AYHAEH SUSHAYSESIH) (SH9 &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OgLHIgXISN o1d Al 780,000
ES 400,000
== 380,000
02 Zcltl 15,000 0 15,000
O AHI9XISN 01d &= 15,000
03 Al& = THHI 5,000 0 5,000
OYLHIOXI K OIF A= 5,000
CHES119KIGIM] O™ &I 1,100,000 0 1,100,000
ES 550,000
== 550,000
401 Al HIZ 201 1,100,000 0 1,100,000
ES 550,000
[ 550,000
01 AlZH| 1,055,000 0 1,055,000
OQtE19XIST Old &= 1,055,000
e 530,000
= 525,000
2 &l 40,000 0 40,000
OIS 19X 01™ &= 40,000
EN 20,000
=S 20,000
03 Al = THHI 5,000 0 5,000
ORtS 19X OlF &= 5,000
EHEA A AR 620,000 0 620,000
e 310,000
= 310,000
401 AIEHIZ SR OHYI 620,000 0 620,000
e 310,000
= 310,000
01 Al&HI 618,000 0 618,000
OHAZA A= 618,000
E 310,000
s 308,000
03 A2 THYI 2,000 0 2,000
OHAZA A5 2,000
CHSX AYE)| 22 4,100,000 0 4,100,000
e 4,100,000
405 AHaHE = 4,100,000 0 4,100,000
ES 4,100,000
01 Tt ESF=HI 4,100,000 0 4,100,000
oU=sA Agd)| 2 4,100,000
e 4,100,000
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2A:

X XH -
o=

SRl ABHO AR P HASZ(ASSES ) (SH9: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 1,208,860 11,694 1,197,166
01 At2teltl 1,208,860 11,694 1,197,166
OALsFE U= 1,206,360
OFRYgF=d =24 2,500
202 04| 17,760 14,800 2,960
01 2LHAH| 17,760 14,800 2,960
OA~gHH| 22lHR =N 8,160
oA e 2l =& 9,600
204 ARt AH| 12,441,360 10,914,840 1,526,520
02 SEF3H 12,441,360 10,914,840 1,526,520
(©FE=%-¢=1] 9,037,200
(O SEe= sl 3,391,200
OT A SHI 960
OSAIE A2 SH| 9,600
onolgsH(Ag3222l) 2,400
Gll=l=INQe =11 ]pAv |=lk]D) 173,861 247,861 AT74,000
OibIb 2 (AZEE3IA) 173,861 247,861 74,000
oligigl 173,861 247,861 AT74,000
801 GBI 173,861 247,861 AT74,000
01 Letoldlbl 163,861 237,861 AT74,000
ogetoldll 163,861
02 XHoH - =X ol 10,000 10,000 0
OMa - Ht=Hoidlb| 10,000
HY 2SI ZHI(ALSZHIZH W) (OIEHIIE 241,987,479 213,958,817 28,028,662
AR AHH(AELESIH) 241,603,680 213,576,614 28,027,066
A2 (AYSRE) 240,430,190 211,731,925 28,698,265
101 e124d| 240,430,190 211,731,925 28,698,265
01 2= 240,430,190 211,731,925 28,698,265
oJlzs 113,317,663
O SH 11,443,558
-aUE 2,907,436
- 8,536,122
O=Hl 86,232,115
-Agd 506,957
—a%H 17,732,398
ey 23,288,429
—aUy 32,332,410
-2 899,672
-2 2AH 11,472,249
od2=+¢ 12,614,508
OsS=odyE 3,027,482
o+ 74,835,372
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